}

return 0; 

}

int existDaughter{Family *family,Female *daughter) { int i; 

  i=0;
if (!daughter) return 0; 

while ((*family).fatherdaughters[i]) {
if ((*family).fatherdaughters[i]->daughter==daughter) return 1;
i++;
}
return 0;
}

int addMale(Family *family,Male *male);
int addFemale{Family *family,Female *female};
int addWife(Family *family,Female *female,Male *male) {
Marriage *marriage,**marriages ;
int len;
if (existFemale(family,female )) return 0; /* pre-condition */        
if (!existMaIe{famiiy,rnale)) return 0; /* pre-condition */
if (hasWife(family,male)) return 0; /* pre-condition */
addFemale(family,female);
marriage=(Marriage*)(malloc(sizeof{Marriage)));
(*marriage).male=male;
(*marriage).female=female;
len=0;
marriages=(*family).marriages;            while (marriages[len]) len++;
marriages=(Marriage**)(malloc(sizeof(Marriage*)*(len+2)));
if ( len>0 } memcpy(marriages,(*family).marriages,sizeof(Marriage*)*len);
marriages[len]=marriage;
marriages[len+l]=0;
free((*family),marriages);
(*family).marriages=marriages;
return 1; 

}
int addHusband(Family *family,Female *female,Male *male) {
Marriage *marriage,**marriages;
int len;
if (!existFeniale (family, female )) return 0;
if (existMale{family,male)) return 0;
if (hasHusband(family,female)) return 0;
addMale(family,male);
marriage=(Marriage*)(malloc(sizeof(Marriage)));
(*marriage).male=male;
(*marriage).female=female;
len=0;
marriages=(*family).marriages;
while (marriages[len]) len++;
marriages={Marriage**)(malloc(sizeof(Marriage*)*(len+2)));
if ( len>0 ) memcpy(marriages,(*family).marriages,sizeof(Marriage*)*len)
marriages[len]=marriage;   
marriages[len+l]=0;       
free({*family).marriages);
(*family).marriages=marriages;
return 1; 

}

int addSon(Family *family,Marriage *marriage,Male *son) { FatherSon **fathersons,*fatherson; 

MotherSon **mothersons,*motherson; 

int len;
if (!existMarriage(family,marriage)) return 0; if (existMale(family,son)) return 0;
